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Eriks	problemlösning	
	

1. Erik	är	15	år	och	3	år	yngre	än	Fia.	Fia	är	9	år	äldre	än	isak.		
	

a. Hur	gammal	är	Erik?	
b. Hur	gammal	ör	Fia?	
c. Hur	gammal	är	Isak?	

	
2. Sture	har	bakat	5	sockerkakor.	Varje	sockerkaka	räcker	till	6	

personer.	Hur	många	personer	räcker	hans	sockerkakor	till?	
	

3. 1	kg	potatis	kostar	12	kr.	Tomater	är	dubbelt	så	dyra.		
	

a. Vad	kostar	två	kg	tomater?	
b. Hur	mycket	kostar	två	kg	tomater	och	tre	kg	potatis?	

	
4. Stella	plockar	svamp.	Hon	hittar	40	st		kantareller,	hälften	så	

många	Carl	Johan	och		1/8	så	många	blodriskor.		
	

a. Hur	många	Carl	Johan	hittar	hon?	
b. Hur	många	blodriskor	hittar	hon?	
c. Hur	många	svampar	hittade	hon	sammanlagt?	


